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 BES-127  

BACHELOR OF EDUCATION (B.Ed.)  

Term-End Examination 

December, 2021 

 

 BES-127 : ASSESSMENT FOR LEARNING 

Time : 3 hours Maximum Weightage : 70%   

 Note : All questions are compulsory. All questions carry 

equal weightage. 

1. Answer the following question in about  

600 words : 

 Explain different scales of measurement with 

the help of suitable examples. 

 OR 

 Critically discuss the constructivist perspective 

of assessment with special reference to 

Assessment for Learning (AFL). 

2. Answer the following question in about  

600 words : 

 Explain the concept of Reliability with special 

reference to the method of calculating reliability 

of a test by using split-half method. 

OR 

 Explain the procedure of online and e-examination 

with its advantages and limitations. Give 

examples. 
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3. Write short notes on any four of the following in 

about 150 words each : 

(a) Extended and Restricted Response Type of 

Essay Items 

(b) Question Bank 

(c) Difference between Achievement and 

Diagnostic Test 

(d) Functions of Continuous and 

Comprehensive Evaluation 

(e) Content Validity 

(f) Sociometric Techniques 

4. Answer the following question in about 600 words : 

 Mention situations in which Median is the best 

measure. Calculate the Median of the following 

distribution : 

Class Interval Frequency 

90 – 94 2 

85 – 89 3 

80 – 84 3 

75 – 79 4 

70 – 74 7 

65 – 69 12 

60 – 64 9 

55 – 59 4 

50 – 54 2 

45 – 49 2 

40 – 44 2 

 N = 50 
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~r.B©.Eg.-127 : A{YJ_ Ho$ {bE AmH$bZ 

g_` : 3 KÊQ>o  A{YH$V_ ^m[aVm : 70%  

ZmoQ> : g^r àíZ A{Zdm`© h¢ & g^r àíZm| H$s ^m[aVm g_mZ h¡ & 

1. {ZåZ{b{IV àíZ H$m CÎma bJ^J 600 eãXm| ‘| Xr{OE : 

 _mnZ Ho$ {d{^Þ ñVam| H$mo C{MV CXmhaUm| H$s ghm`Vm go 
g_PmBE & 

AWdm 

 AmH$bZ Ho$ g§aMZmdmXr n[aàoú` H$s g_mbmoMZmË_H$ MMm© 
A{YJ_ Ho$ {bE AmH$bZ (E.E\$.Eb.) Ho$ {deof g§X^© _| 
H$s{OE & 

2. {ZåZ{b{IV àíZ H$m CÎma bJ^J 600 eãXm| ‘| Xr{OE : 

 EH$ narjU H$s {dídgZr`Vm Ho$ gåàË`` H$s, AY©-{dÀN>oX 
{d{Y go {dídgZr`Vm H$s JUZm H$s {d{Y Ho$ {deof g§X^© 
_| ì`m»`m H$s{OE & 

AWdm 

 Am°ZbmBZ VWm B©-narjm H$s à{H«$`m H$s ì`m»`m BgHo$ 
bm^ Am¡a gr_mAm| Ho$ gmW H$s{OE & CXmhaU Xr{OE & 
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3. {ZåZ{b{IV ‘| go {H$Ýht Mma  na bJ^J 150 eãXm| 
(àË`oH$) _| g§{jßV {Q>ßn{U`m± {b{IE :  

(H$) {dñVmanaH$ VWm gr{_V àH$ma Ho$ {Z~§YmË_H$ àíZ 

(I) àíZ ~¢H$ 

(J) CnbpãY VWm {ZXmZmË_H$ narjU _| A§Va 

(K) gVV Am¡a ì`mnH$ _yë`m§H$Z Ho$ àH$m`©  

(L>) {df`dñVw d¡YVm 

(M) g_mO{_{V {d{Y 

4. {ZåZ{b{IV àíZ H$m CÎma bJ^J 600 eãXm| ‘| Xr{OE : 

 ~VmBE {H$ {H$Z n[apñW{V`m| _| _mpÜ`H$m _mnZ g~go 
AÀN>m hmoVm h¡ & {ZåZ{b{IV {dVaU Ho$ {bE _mpÜ`H$m H$s 
JUZm H$s{OE : 

dJ© A§Vamb ~ma§~maVm 
90 – 94 2 

85 – 89 3 

80 – 84 3 

75 – 79 4 

70 – 74 7 

65 – 69 12 

60 – 64 9 

55 – 59 4 

50 – 54 2 

45 – 49 2 

40 – 44 2 

 N = 50 

 


